A 2 0 & g & A A
20208 =3 2 3 JIZMESEIIS SEIAN U=
AN FUASIIB
g NAS5 dgd &

Eel Jlzdg BAXNAOIZHESHIIS SE3H) (Sl & &)
SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
==X 1,480,941 1,484,296 A 3,355
MNASE 43 X 85,614 1,484,296 A 1,398,682

JI=dE BEENAQI=MEEHIIZ SE3H) 85,614 1,484,296 A1,398,682
Jlzdg 2X& 71,529 72,810 A1,281

201 Let24E] 500 1,500 21,000

01 AFR2telHl 500 1,500 A 1,000
Oget=EH| 500,000& 500 1,500 A 1,000

202 O Hl 500 2,300 A 1,800

01 = LH 4 HI 500 2,300 A 1,800
Osia 3l gdR=2 500,000& 500 2,300 A 1,800

307 21201 & 20,529 19,010 1,519

05 RIZtE = 1,519 0 1,519
ONAE ERAAY RAE 23| 1,519,000& 1,519 0 1,519

0l Bl 8l 14,085 1,411,486 A1,397,401
801 OilHI 8l 14,085 1,411,486 A1,397,401

01 &Btolbltl 14,085 1,411,486 A 1,397,401
Oolgldl 14,085,000& 14,085 1,411,486 A 1,397,401
HREsSOI=ME8EHIIz SE3H) 1,395,327 0 1,395,327
UWRAHAXESOIZ88EHIIZ SE3H) 1,395,327 0 1,395,327
HE3S 1,395,327 0 1,395,327
704 O &= 1,395,327 0 1,395,327

01 &= 1,395,327 0 1,395,327
OsgMEetEa = WE= 1,395,327,000& 1,395,327 0 1,395,327




